ICSE Geography

Class 10

Multiple-Choice Questions

Chapter 18 - India - Industries

1. Which industry is considered the backbone of the Indian economy?

a. Textile industry b.
c. Agriculture industry d.
Answer: (a)

2. Which state is the largest producer of silk in India?

a. Maharashtra b.
c. Tamil Nadu d.
Answer: (b)

3. Which industry is known for its “cottage industry” status?

a. Silk industry b.
c. Handloom industry d.
Answer: (c)

4. Which port is the largest natural port in India?
a. Chennai port b.
c. Kolkata port
Answer: (c)

Automobile industry
Manufacturing industry

Karnataka
Andhra Pradesh

Coir industry
Jute industry

Mumbai port

d. Visakhapatnam port

5. What is the name of the first Indian satellite launched by India in 1975?

a. Aryabhata b.
c. INSAT-1B d.
Answer: (a)

6. Match the following industries with the raw material used:

Column A Column B

A. Cotton textile industry 1. lron ore

B. Jute textile industry 2. Sugarcane

C. Steel industry 3. Jute

D. Sugar industry 4. Cotton

a. A4, B-3, C-1, D-2 b.

c. A4, B-1, C-2, D3 d.
Answer: (a)
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7. Match the following industries with their respective locations:

Column A

Cotton textiles

Tea

Information Technology
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Iron and steel
A-1, B-3, C-4, D-2
c. A2, B-1, C-3, D4
Answer: (d)
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Column B

Mumbai-Pune belt

Chennai-Bangalore region

West Bengal

Chhotanagpur Plateau
b. A-3, B-2, C-4, D-1
d. A-3,B-1, C-2, D4

8. Match the following ports with their location:

Column A

Kochi port

Kandla port
Mumbai port
Visakhapatnam port
A-3, B-2, C-4, D-1
A-4, B-2, C-3, D-1
Answer: (c)
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Column B

Andhra Pradesh

Gujarat

Maharashtra

Kerala
b. A-2, B-1, C-4, D-3
d. A-4, B-3, C-2, D-1

9. Which industry is known as the “Sunrise industry” of India?

a. Textile industry
c. Automobile industry
Answer: (b)

b. Information Technology industry
d. Agriculture industry

10. Match the following industrial regions with the state where they are located:

Column A
Chhotanagpur Plateau
Mumbai-Pune region
Bangalore-Tamil Nadu
Ahmedabad-Vadodara
A-1, B-3, C-4, D-2
c. A2, B-3, C-4, D-1
Answer: (b)
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Column B

Tamil Nadu

Odisha

Karnataka

Maharashtra
b. A-2, B-4, C-1, D-3
d. A-1, B-4, C-2, D-3

11. Which state is the largest producer of natural rubber in India?

a. Kerala
c. Karnataka
Answer: (a)

b. Tamil Nadu
d. Maharashtra

12. Match the following terms related to Industrial Sectors in India:

Column A
Primary Sector
Secondary Sector
Tertiary Sector
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Quaternary Sector
A-1, B-3, C-4, D-2
c. A-2, B-3, C-4, D-1
Answer: (b)
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Column B

IT Industry

Agriculture

Service Industry

Manufacturing
b. A-2, B-4, C-3, D-1
d. A1, B4, C-2, D-3



13.

14.

15.

16.

17.

18.

19.

Which city is known as the “Electronic City” of India?

a.

C.

Hyderabad b. Chennai
Bengaluru d. Mumbai
Answer: (c)

Which is the largest chemical industry in India in terms of production?

a.
b.
c.
d.

Tata Chemicals

Hindustan Unilever Limited

Guijarat Alkalies and Chemicals Limited
Reliance Industries Limited

Answer: (d)

Match the following industrial sectors with their characteristics:
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Column A Column B

Public sector industry 1. Controlled by private individuals

Private sector industry 2. Controlled by the government

Joint sector industry 3. Owned by a group of people

Cooperative industry 4. Owned and operated by farmers or workers
A-3, B-1, C-4, D-2 b. A-2, B-1, C-3, D4

A-2, B-1, C-4, D-3 d. A4, B-1, C-2, D-3

Answer: (b)

Which is the largest producer of crude oil in India?

a.

C.

ONGC b. Reliance Industries Limited
Indian Oil Corporation d. Oil India Limited
Answer: (a)

Match the following industries with their respective raw materials:
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Which sectors were permitted for Indian and foreign entrepreneurs to enter after liberalization?

a.
b.

o

Column A Column B

Sugar industry 1. Limestone

Cement industry 2. Sugarcane

Silk industry 3. Silk yarn

Paper industry 4. Wood pulp

A-1, B-3, C-4, D-2 b. A-2, B-1, C-4, D-3
A-2, B-1, C-3, D-4 d. A1, B-4, C-2, D-3

Answer: (c)

Power, road transport, communications, petroleum, etc.
Agriculture and mining

Education and healthcare

Textile and handicrafts

Answer: (a)

Which of the following is not an example of agro-based industries?

a.

C.

Cotton and jute textiles b. Sugar
Chemicals d. Food processing
Answer: (c)
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20. Match the following terms related to India’s Industrial Development:

b
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Column A

FDI

TISCO

Maruti Udyog
CIL

A-4, B-3, C-1, D-2
A-4, B-1, C-2, D-3
Answer: (c)
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Column B

Bombay Dyeing

Suzuki Motors

Coal India Limited

Investment from foreign companies
b. A-2, B-1, C-4, D-3
d. A-3, B-4, C-2, D-1





